Grade Nine 2015 Math Test
Chapter Two: Powers and Exponents

Name:
Multiple Choice (10 Marks)

1. Evaluate. (—3)3.

A) 9 B)9 @ D) 27

2. Evaluate. (—5)2.

A) -10 B) 10 C) -25

3. Which expression is the same as 5*?

A) 5x4 C) 4x4x4x4x4 D) 5+4

4. Which expression is the same as 10°?

A) 60 B) 100000 (C) 1000000) D) 600000

5. Evaluate (—15)°.

A) -1 @ C) -15 D) 15

6. Evaluate (—1)%7.

(A 1 } B)1 C)-97 D) 97

. Simplify (132)°,

A) 13® B) 137 D) 1325

. Which expression is the same as(7 X 9)8 ?

A) 74 x9* B) 78x98 C) 168 \D) 78 x 98

6
. Which expression is the same as (g) ?

\l

(e0)

o

A) 3° B) (8x5)° C)—6 D) —

10. Evaluate. —82.

A) -16 B) 16< C)-64) D) 64

10.



Part B: Constructed Response

1. Fill in the missing parts of the table. (9 marks)

Power | Base | Exponent | Repeated Multiplication Standard Form
"Lfg 4y | —(4x4x4) ~- Y
s [(8) 3 | (-S)X-5)XB) | -lacg
(-&y>| 8 | 3 [(BX-BX-BY | -5
-3¢ |- | § |- /3x-3x3¢3%3)  AYR
_qz g 2 —\(Q Xq 3 -81

2. Does 32 and 2° mean the same thing? Explain (2 marks)

Np becguse 32 megns
Feler ring to the av¢a of

3
2 Mean aanQ = R “reben

3. Does -6° equal (-6)°? Explain (2 marks)

No, becavse -5°-

ﬂf’ga.h'\/e I applifal ﬂpi-frwarofs_ -6 o. g
+h€ bﬂfe ‘g _ (g [ > iJSY\Ce

4. Write each expression as a single power. (6 marks)

A) (=9)% x (-9)°

(~q>ll

C) (22)5 x (26 + 2%)

3"’% aQ

q"

3x3=9
a Squave With
Side length 3.

N9 1o Hhe volume 3 £
Witr'Side length o f S .(‘ch

~1 <ince the bace is 6, the

B) 147 = 14!

|y
|
D)M _ 5

54x 58 - — -
1:3\& )

5?



5. Evaluate each expression. Show all steps. (12 marks)

A) 5-42 B) (=5)%+3°
A = (-129) + |
o = ~12Y
C) 82+ (-2)° D) (18+ 37+ 1)4— 42 R\-\6
== 64 7 (-8) =(1g:a+) =16 \= ¢4
= R 2 (1) -6
= 1- 16

F) 33+9(30-22) G) (122 453)0 —2(=3)3
= 31-901-4) = |- a(-3t)
= 3#:9(-3) (- (- 54)

6. Simplify using the laws of exponents, then evaluate. (6 marks)

A) (2° +2°%) — (3* x 3)? B) [(=5)°+ (=5)*]* = [(=5)* + (=5)?]°
()-8 - 9T o)’
-3~ 3 = (-5) - (-%)°
- 8— ??C‘ = &5 - l
" 12 QY



7. Find the error in the solution, circle it. Write out the proper solution. (3 marks)

Wrong Solution Correct Solution

(2 +3)3
“\eve 1S & (32— 6% — (=3)(=7) : <02+3>3
NoO exponen? (32 = 69 — (=3)(-7)
law {'oy (33-6% — (=3)(=7) - ( '3)2"

g{;‘ﬁ;’;ﬂg S (33-1)~ (&)

26— 21 =~ 138

35 (26)-Q\

S

Q5



